EXERCISES FOR CHAPTER 2

With Solutions

Exercise 1.

a. A firm’s balance sheet lists $3,067 million in shareholders’ equity and $1,204 million in liabilities. What is the carrying value of its assets?

b. This firm’s equity trades at $4,569 million. What is its price-to-book ratio?

Solution

a. Assets = Shareholders’ equity + Liabilities

            = $3,067 + 1,204 = $4,271 million

b. P/B = $4,569/3,067 = 1.49

Exercise 2. 

Chubb Corporation, the insurer, reported net income of $222.9 million for 2002. It also reported gains on investments of $332.9 million and foreign currency translation gains of $16.5 million, both as part of “other comprehensive income” in its Statement of Shareholders’ Equity. What was Chubb’s comprehensive income for 2002? 

Solution

Comprehensive income = net income + other comprehensive income




   = $222.9 + (332.9 + 16.5)



               = $572.3 million

Exercise 3.

Go to the 2002 10-K filing for Chubb Corporation. Get to the SEC filings through the links on the book’s web page. Find the following in the financial statements.

a. Net income

b. Comprehensive income

c. Cash flow from operations

d. Cash flow for investing

e. Cash flow for financing

f. Common shareholders’ equity

g. Common shares outstanding

h. Total assets

Solution

(In millions)

a. Net income = $222.9 at bottom of the Income Statement

b. Comprehensive income = $572.3 in the Shareholders’ Equity Statement

c. Cash flow from operations = $2,382.1 in the Cash Flow Statement

d. Cash flow for investing =$2,643.4 in Cash Flow Statement

e. Cash flow for financing = $277.4 in Cash Flow Statement

f. Common shareholders’ equity = $6,859.2 in Balance Sheet

g. Common shares outstanding = 171,202 (issued less shares in treasury) in Balance Sheet

h. Total assets = $34,114.4 in Balance Sheet

Note that common shareholders’ equity is equal to total equity here because there are no outstanding preferred shares.

Exercise 4. 

Chubb Corporation reported $6,525.3 million in shareholders’ equity at the end of 2001 and $6,859.2 million at the end of 2002. It reported $572.3 in comprehensive income for 2002. What was the net payout to shareholders during the year?

Solution

Net payout to shareholders = Comprehensive income – Change in book value of equity




        = $572.3 – 339.9




        = 238.4 million

